Chapter 3 Review
Pre-Calc
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Find the quotient and remainder using synthetic division

X —4x? +2x+5
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Find the quotient and remainder using long division

3. (-3 + 23 = 2x+ 3) = (x* - 1)
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5. Show that % is a zero of the polynomial
Pix)= 2x* +x =55 +10x—4
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6. Perform the indicated operation and write the result in the form a + bi

a) (3—2i)+ (4 +3i) b} (3~ 2i)— (4 + 3i)
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Let P(x) = 2x3 - 5x* - 4x + 3.

a. List all possibie rational zeros of P.
-+ l +
=113

[f/l, + 3/3}

b. Find the compiete factorization of P.
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¢. Find ail zeros of P,
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9, Let P(x) = = x*+ 3x3- 13x* - 15x
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a. List all possible rational zeros of P
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10. Find all real and complex zeros of P(x) = %* - x“ - 4x -6
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L2+ 52 -8x+ 4

11. Find all the real and complex zeros of P(x]
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12. Find a fourth-degree polynomial with integer coefficients that has zeros 3i and -1, with -1 a zero

multiplicity of 2 and a leading coefficient of 5
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13. Graph the rational function. Show clearly all x- and y-intercepts and asymptotes.
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